oooooon

godd

gooo ooooo

No.6: DOODODOOO2(0O0OOOO)

gooooobogd

gbobobooboobmoooooooobooboobon

» JO0O0O00OOoOoob: 000

» 0000000000000 0DO0O0OoOOUOoOO (o
000000): Ruby,Python,Perl,JavaScript,Lisp,...

» JO0000000000000ooooooooggg (D
O0O000ogag; CJava,0Caml,Haskell,...
O000Oo0o0ooooOo 20000000
» JO0000000000O000O00O0O0OODO0O0OOOOoggogg
00000000 (0o0)

» 0000000000000 0DOO0OO0 (Doooooo)o
0000000000000ooOoOOo0o0o0oooO (ooo)

Joodd

(0000000000000 go00000000000000
ooooo)

let rec foo x =

if x = 0 then 1

else x x (foo (x — 1))
==>
foo : int — int

let rec goo x =
if x = 0 then 1
else x +. (goo (x — 1))
==>
type error
(¥ The operator +. 1is for floating—point numbers.x)

gboobogoogog
» J0: 00000
» J0: 0000000DbO0bOobOOobOobOooboon

god;ooon

let rec tarai xy z =
if x <= y then y
else tarai (tarai (x—1) y
(tarai (y—1) z x)
(tarai (z—1) x

» x-1 000000 x,y,z0 intO

» 00000 if..then y else... U0 0O0OODOODOODOO
O0yOOoooooOgd intO

» tarai: int -> int -> int > int Q000000000
0000 (booooooooooon)




ooooobogd

let rec miscl x y =
let £ x v = miscl y x in
let g x vy (f v x) + 5 in
let h x vy gy X in
h x (x+2)

let rec misc2 x y =
let f x y = misc2 y x in
let g x vy = fy x in
let h x y = gy x in
h (x+1) ("Hello" ~ x ~ "World")

O.~000000ooo0ooo(@oooon)

goooobbugoooooon

let rec miscl x y =
let £ x v = miscl y x in
let g x v = £ yv x in
let h x y = gy x in
(h x (x+2)) + 5

v

(h x (x+2))+500 0miscl : int -> ? => int0

h : int -> int —> int OO0O000O

»let hxy=gyxUO0Og : int -> int -> int OO
oon

» 000 f : int -> int > int OO0 00O

let £ x y = miscl y x0O0O
miscl : int -> int -> int 00000

v

ogooobobuoood

gbooobogoog
» JO0O0DO0DOO0OOO0bO0obO0ob00o0oooooboobobOon
0000000 (oooboOo0oooUooooooOo
O00oo0oooooo)o
» JO00D0O0DOO00OO00O00000000ob00oboobobon
uboboboboobooooooood

» 0000 (0O0O0DO)000DO0O0ODOOUODOO (DDDo
0)0ooooooooooooooooooo

0oooooooo (1)

O0ooo0oooooooo (oboooo):

ex=1i|(e+e)|x]|(ee)](Mx.e)

ooooooo rhk-e: T
» D ed00 TOOODOODDOODDO
» 0000 ebOO0DOOOLOOOOOOOOTIDOOO

O 1: [x: Int, y : bool] F if y then x else x + 1: Int
O 2: [] - Ax.Ay. if y then x else x + 1: Int — (bool — Int)
ro[]oooooooo




000000000 (2)

(000000000000 00000000000000000
oooo)

0000000000000000000:
(00oooooooon)

+17:Int

(0ooooooono)
(x: Terl)
Nex: T

(DoDooooooo)

e :int [T F e :int
I'I—(e1+e2):int

0oooooooo (3)

(DoDO0OOoOoOoOoOoOoOoO)

FrU(x: T1)kFe: T,
NXx.e: T1 — T

(UD20000000000)
(Dooooooooon)

FrFer:To—T1 The: T
N-(e1e): Th

ooooobod

O0oO0o00: Ax. x+3

(x: Telx:T)])
[x:T]Fx: T [x:T]F3:int
[x: T]Fx+3:777

000 T=intOdOoOOdOd

(x :int € [x : int])
[x:int]F x:int [x:int]F 3:int
[x:int]Fx+3:int
[[F Ax. x4+ 3 :int — int

goooobogd

000000: AxAy. x+y

(x: Tex:T]) (y:Sely:9))
[x: T,y:S|Fx:T [x:T,y:S]Fy:S
[x: T,y:S|Fx+y:72?

T=S=int00O0O0O

(x :int € [x : int]) (y : int € [y : int])

[x:int,y:int]F x:int [x:int,y:int]tF y:int

x:int,y rint]F x+ y :int

[ ¥+ int] y

[x :int] F Ay. x+y : int — int
[[F Ax.Ay. x+y:int — (int — int)




oooobbod

000000: MAx. (f (F (x +3)) +5
M=[f:S—=T, x:int] 0000

MMEFf:S—T T1Fx+3:int
MEf(x+3):T

S=int00000MN =[f:int > T, x:int] 0000

b f:int - T Tobkx-+3:int

Mo f:int — T Mo f(x+3): T
MoFf(f(x+3): T

T=intO0OOODO

goooobogd

(OOoo0O0UO0OU0O0O0O0OU0O0O0O0OUDOObODOODODOOn
oooo)

000000: MAx. (f (f (x +3))) +5

3 =[f:int — int, x:int]0 000

M3k f (F (x+3)): int
[f:int — int] F Ax. f (f (x+3)) : int — int
[|F A x f (f (x+3)):(int — int) — (int — int)

go!

HEN

gobbooboboobooboon
O 1: M Ay (F x)+ (F y) + x
O 2: Mf.Ax. f (f x)

O 3: M. f (F f)

0oooo ().

O 10 M AxAy. (f x)+(f y)+x
Mh=[f:Sx:T,y:Uj00o00O

MEf:S Tibx:T TiHf:S T1ky:U
MEfx:int MFfy:int
ME(fx)+(fy):int M Fx:int
ME(fx)+(fy)+x:int

O00000S=T —int, S=U—int, T =int00000
OO0T=U=int0000D00O0ODO

M F(Fx)+(f y)+x: int
f:int — int F Ax.Ay.(f x) + (f y) + x: int — (int — int)
FAF Ay, (f x)+ (f y) + x: (int — int) — (int — (int — int))




0oooo (2).

O 2: M.Ax. f (f x)
M=[f:S,x: T|ODOOO

MW=V I1kEx: W
MMEf:V—>U MMEfx:V
MEf(fx):U

oogoosS=v-s>U=W-Vvood T=wooono
T=W=V=000000000

MEf(Fx): T
f:VoUEREMTf(fx):T—T
FAMM. F(Fx):(T—T)—=(T—>T)

gobooboboouoboooooboouoobobooboooo Tooo

00(T—»T)=(T—T)00000000

ooooo (3).

0 3: M. £ (f f)
=[f:5]0000

MMEFfF:S T{+Ff:S
MMEff:V

ooogosS=S—»Vvooouooooooog sooopoogo
OooOoo0oooOooOoOoOoOooooocoOoOooooooo ff
0000000000000 0ffFODOOOOOOO M. f(ff)
obooooooon




